=R 4 B e

T | B | GERAZER 4/1~/1)

2 | A

3 | X

4 7K

HE:

6 | =

T | £ | FEmhEET)

5 | B

9 | A HEX- 1 FHKEER - AP - PIARER PTARBRD
2EE BRESER EE - )1y7-v31y (1%) EPM S

0k ghas HEEEE&E%ﬁ‘%ﬁ&&éQ T Gy FERRAER/10~/12

1|k |EBABETAL (1-2-35) SN (5 03 F-ASR (2)

Ih9vs-(1 - 2FQD) ($8) SFEHERD 14 U2

12 X |BAEHE (5~68R)

13 | & |E&EER (X 2 45 Hh ik B A A 2R
14 | £ TEHED

15 | B

16 | A

17 | Xk |[BRR1K

18 | K |EMEESR

19 | K EMEELQ HEREHE (2F) HEHREAMRKRE (3F)

20 | & #EBI®RZ (14F) 8:55~ HLEDEED
21 | £ TEHEQ

22 | H

23 | B

24 | ko (AEREZ 13:30~ (2%) YA =T ILEK
25 | Kk |EE®EZ 13:30~ (1%F)

26 | K RAE®EEZ 13:30~ (15)

21 | & EARERIEE 45x%6

28 | £

29 | B |BfoB

30 | B kKB

w5

B LEIF— (15) Classi ;EREE (1)

1-1




